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M 1:1

17.219 cm3

89.820 cm4

25.792 cm4
Wy=10.315 cm3

390.3 mm

Ix
ly
Wx
PH

8.098 cm3
344.3 mm

PH

Wy

AGS500
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MNpodounun cToek

90103

17,5

115,5

98

M 1:1

x+x

Ix=151.151 cm4
ly=30.772 cm4
Wx=24.230 cm3
Wy= 12.307 cm3
PH= 426.3 Mm

90104

137,5

17,5

120

Ix=239.969 cm4
ly=36.075 cm4
Wx= 32.925 cm3
Wy= 14.429 cm3
PH= 470.3 mm

M-1-02

AGS500




g7 ATPUCOB

Cuctema AGS 500

MNpodounun cToek

17,5

167,5

150

Ix=416.317 cm4
ly= 43.807 cm4
Wx= 46.806 cm3
Wy= 17.521 cm3
PH= 530.3 mm

90106

202,5

17,5

185

50

Ix=700.995 cv4
ly=52.255 cm4

AGS500

Wx= 67.520 cm3 M 1:1
Wy= 20.900 cm3 Y
PH= 615.9 Mm X+X
Y
N-1-03




| pogunn yFJ'IOBbIX CTOEeK
Cuctema AGS 500 Mpod (yron 90°)

90110

50

17,5

97,5

80

50

97,5

Ix=103.636 cv4

ly=103.636 cm4
Wx= 18.819 cm3

Wy= 18.819 cm3
PH= 581.5 mm

M 1:1

x<~—x

Mn-1-04 AGS500




A‘EL

Mpodomnu yrnoBbIX CTOEK
(yron 90°)

17,5

115,5
Ix=190.271 cm4
ly=190.271 cm4
Wx= 28.966 cm3
Wy= 28.966 cm3
PH= 653.6 Mm
M 1:1
Y
x+x
Y
AGS500 Mn-1-05
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90119

50

115,5

M 1:1

x<~—x

Ix=170.097 cm4

ly=57.768 cm4
Wx=24.951 cm3
Wy=12.846 cm3
Pu= 578.1 mm

N-1-06

AGS500




:%55 ATFMCOBT " Cuctema AGS 500 | Mpodunm MoHTaxHbIX

CTO€eK

90121

39

90120
Ix=64.53 cm4
) ly=7.43 cm4
Ix= 38.36 cm4 PH= 415.5 MM
ly=6.76 cm4
PH= 347.7 mm
M 1:1

x+x

AGS500 Mn-1-07




90122

90123

39

Ix=68.68 cm4
ly=7.57cm4
PH= 383.7 mm

M 1:1

XJFX

115,5

Ix=108.91 cm4
ly= 8.33cm4
PH= 450.5 mm

Mn-1-08

AGS500
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90124

120

Cuctema AGS 500 Mpodhnnn MOHTaXKHbIX

CTOo€eK

42,7

90125

39

Ix=118.51 cm4
ly= 8.50cm4
PH= 427.7 mm

Ix=177.26 cm4
ly=9.33cm4
PH= 494.5 mm
M 1:1
Y
x+x

AGS500

M-1-09




ATPUCOBIAS (S e MpocpurI LiapApHLx

90112 90113

20
20

Ix=40.106 cm4

ly= 18.405 cm4

Wx=9.294 cm3

Wy= 7.361 cm3

Pu= 320.4 MM Ix=85.061 cm4
ly=23.949 cm4
Wx= 15.787 cm3
Wy=9.579 cm3
PH= 366.4 mm

M 1:1
X+X

M-1-10

AGS500
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